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S1 S2 S3 S4 S5 S6

1 0.000 −0.250 −1.061 −0.250 −0.000 −1.458 ¸V¹MºV» ¼½¾¿LÀTÁÀM
2 −3.250 −0.000 −2.951 −4.428 −0.382 −2.951 ÂKT¾ºKUg�V¹ ÃSV¿V
3 −3.540 4.000 −3.958 −8.527 −3.540 1.042 ÂK¿gKMK¿KU Ã V�ºV
4 −2.561 −5.000 2.884 −6.600 2.884 0.000

ÃKTÁSÄ Ã VMÅ¹
5 8.111 −8.714 6.248 −0.000 −6.882 −6.248

[U¹ÁS¿ÆNUV PTÇ¿V
6 −5.000 −0.500 −3.905 −3.202 −3.000 3.905

[KÁS¿V È�V»NMS¿V
7 −1.500 −4.000 −1.061 −1.250 −4.750 1.061

QgV�KU PTN�gV¿LM
8 −0.000 −2.500 −0.000 1.202 −3.167 −0.000

RKºVTS¹ Ã VUSL
9 −6.000 −0.000 −3.499 −4.200 −0.000 −0.000

]KÉV�KUV PTS¿V
10 −3.333 −2.000 0.000 −2.000 −0.000 3.887

XKTÊV¿KU ] NK¿SL
11 −0.000 −6.000 4.269 −6.000 −0.000 −5.850 �NÊVNU PTN�gNË
12 −0.583 −0.600 −0.500 −1.414 −1.749 −0.500

JVUTKU PTN�gNË
13 −3.500 −0.000 −0.000 −3.500 −2.000 2.828

JKÌKU X V�gS�
14 −0.357 −2.143 −0.000 −0.357 −3.687 −0.000 Í¹ºKU X V�gS�
15 −4.000 −2.667 4.807 −4.000 −0.000 −0.000 ÎN�S¿ ÈUÁN¿SË
16 −0.000 −5.500 −0.000 −3.500 −2.828 0.000 ÎKMK�S¿ �S�S»V
17 −3.842 3.333 −0.521 −6.000 3.842 −4.686 Î¾Ê�KU JVUNT
18 −7.000 0.000 −0.000 −0.000 −10.200 5.122

ZNLKMKUV RMSg»S¿V
19 −9.192 4.000 10.833 −13.000 14.849 −10.833 ÏVMSÐS¿ JVUNT
20 8.602 −10.000 7.810 1.429 −11.060 −7.810 ÑKË PTN�gNË
21 1.800 −6.100 3.000 −4.300 −0.000 4.243 ÒSÊ�V¿Å QUV¿
22 −2.300 −0.000 0.000 −2.300 −5.769 −7.020 ÏVÐN�KU X V�gS�ÓÔÕÖ ×ØÙÚ Û ÜÝÞß Üà


